

BID2019-25 RECONSTRUCTION OF FERRY STREET NJDOT TRUST FUND FOR THE CITY OF TRENTON, DEPARTMENT OF PUBLIC WORKS, DIVISION OF TRAFFIC AND TRANSPORTATION BID OPENING 5/2/19 AT 11:00AM

| | | | |
|---|---|---|---|
| BID2019-25 RECONSTRUCTION OF FERRY STREET NJDOT TRUST FUND FOR THE CITY OF TRENTON, DEPARTMENT OF PUBLIC WORKS, DIVISION OF TRAFFIC AND TRANSPORTATION | | | |
| NUMBER OF RESPONDENTS: | 3 | | |
| NAME OF BIDDER | RICHARD T. BARRETT PAVING COMPANY, INC. | EARLE ASPHALT COMPANY | BLACK ROCK ENTERPRISES, LLC |
| ADDRESS | 400 PROSPECT STREET | P.O. BOX 556 | 1316 ENGLISHTOWN ROAD |
| CITY, STATE, ZIP | TRENTON, NJ 08618 | FARMINGDALE, NJ 07727 | OLD BRIDGE, NJ 08857 |
| CONTACT NAME | RICHARD T. BARRETT JR. | BILL MEAD/BRIAN COOPER, PE | JACQUELINE VALE |
| TELEPHONE | 609-882-2236 | 732-308-1113 | 732-967-6400 |
| FAX | 609-396-0572 | 732-308-1034 | 732-967-3402 |
| E-MAIL | EILEEN@RTBARRETPAVING.COM | BMEAD@EARLCO.COM; BCOOPER@EARLCO.COM | INFO@BLACKROCKNJ.COM |
| OWNERSHIP DISCLOSURE STATEMENT | INCLUDED | INCLUDED | INCLUDED |
| BID GUARANTEE | 10% NORTH AMERICAN SPECIALITY INSURANCE COMPANY W.P.O.A/FERNANDA L. DEPAOLANTONIO | 10% FEDERAL INSURANCE COMPANY W.P.O.A/JOSHUA SANFORD | 10% GREAT AMERICAN INSURANCE COMPANY W.P.O.A/LISA NOSAL |
| CONSENT OF SURETY | NORTH AMERICAN SPECIALITY INSURANCE COMPANY | FEDERAL INSURANCE COMPANY | GREAT AMERICAN INSURANCE COMPANY |
| PREVAILING WAGE STATEMENT | INCLUDED | INCLUDED | INCLUDED |
| PERFORMANCE BOND AND LABOR AND MATERIAL PAYMENT BOND | REQUIRED FROM AWARDED VENDOR PRIOR TO AWARD | REQUIRED FROM AWARDED VENDOR PRIOR TO AWARD | REQUIRED FROM AWARDED VENDOR PRIOR TO AWARD |
| MANDATORY EQUAL OPPORTUNITY | INCLUDED | INCLUDED | INCLUDED |
| DISCLOSURE OF INVESTED ACTIVITIES IN IRAN | INCLUDED | INCLUDED | INCLUDED |
| REQUIRED EVIDENCE EEO/AFFIRMATIVE ACTION | INCLUDED | INCLUDED | INCLUDED |
| REGULATIONS QUESTIONNAIRE | INCLUDED | INCLUDED | INCLUDED |
| ACKNOWLEDGEMENT OF RECEIPT OF ADDENDA | N/A | N/A | N/A |
| NJ BUSINESS REGISTRATION CERTIFICATE | INCLUDED | INCLUDED | INCLUDED |
| NJ PUBLIC WORKS CONTRACTOR REGISTRATION CERTIFICATE FROM CONTRACTOR | CERT.#615531 EXP. 03/07/2020 | REQUIRED FROM AWARDED VENDOR | CERT.#667926 EXP. 02/08/2021 |
| NOTICE OF INTENT TO SUBCONTRACT | YES | YES | NO |
| LIST OF SUB-CONTRACTORS | UNITED TERRAIN GROUP D/B/A LANDTECK CONSTRUCTION LLC ; STRAIGHT EDGE STRIPING; CORYELL TREE SERVICE | ASPEN TREE EXPERT CO.,INC; STRAIGHT EDGE STRIPING | N/A |
| NJ BUSINESS REGISTRATION CERTIFICATE (DESIGNATED SUB-CONTRACTORS) | UNITED TERRAIN GROUP D/B/A LANDTECK CONSTRUCTION LLC (INCLUDED) ; STRAIGHT EDGE STRIPING (INCLUDED); CORYELL TREE SERVICE | ASPEN TREE EXPERT CO.,INC (INCLUDED); STRAIGHT EDGE STRIPING (INCLUDED) | NONE |
| NJ PUBLIC WORKS CONTRACTOR CERTIFICATE FOR SUB-CONTRACTORS | UNITED TERRAIN GROUP D/B/A LANDTECK CONSTRUCTION LLC (CERT.#687860 EXP. 03/24/2020); STRAIGHT EDGE STRIPING SERVICE | ASPEN TREE EXPERT CO.,INC (CERT.#632590 EXP. 09/08/2020); STRAIGHT EDGE STRIPING (CERT.#653443 EXP. 09/27/2020) | NONE |
| EQUIPMENT CERTIFICATION | INCLUDED | INCLUDED | INCLUDED |
| NON-COLLUSION AFFIDAVIT | INCLUDED | INCLUDED | INCLUDED |
| AMERICANS WITH DISABILITIES ACT OF 1990 | INCLUDED | INCLUDED | INCLUDED |
| LANGUAGE | INCLUDED | INCLUDED | INCLUDED |
| DEBARMENT NOTICE | INCLUDED | INCLUDED | INCLUDED |
| FIC | CERT.#21868 EXP. 10/15/2024 | CERT.#5657 EXP. 12/15/2019 | CERT.#46690 EXP. 05/15/2021 |
| CITY OF TRENTON RESIDENT EMPLOYMENT POLICY | N/A | N/A | N/A |
| CERTIFICATE OF INSURANCE | REQUIRED FROM AWARDED VENDOR PRIOR TO AWARD | REQUIRED FROM AWARDED VENDOR PRIOR TO AWARD | REQUIRED FROM AWARDED VENDOR PRIOR TO AWARD |
| COMPLIANCE WITH 60-DAY CONTRACT EXTENSION | YES | YES | NO |
| COMPLIANCE WITH EMERGENCY SERVICES | NO | NO | NO |
| THREE(3) REFERENCES | INCLUDED | INCLUDED | INCLUDED |
| EXCEPTIONS | NONE | NONE | NONE |
| GRAND TOTAL FOR ITEMS#1-28 INCLUSIVE | \$509,974.00 SEE ATTACHED BREAK-DOWN OF PRICING | \$710,113.13 SEE ATTACHED BREAK-DOWN OF PRICING | \$715,00.00 SEE ATTACHED BREAK-DOWN OF PRICING |
| FATAL FLAW | FATAL DEFECT | NONE | NONE |

Richard T. Barrett

(P)

CITY OF TRENTON
MERCER COUNTY, NEW JERSEY

RECONSTRUCTION OF FERRY STREET

SCHEDULE OF PRICES

ITEM 1 PERFORMANCE BOND & PAYMENT BOND

1 L.S. @ \$ 6500.00 Per L.S. \$ 6500.00

Six thousand five hundred dollars and no cents
(Write LUMP SUM price for Item 1 in Words and Numbers)

ITEM 2 CLEARING SITE

1 L.S. @ \$ 48,800.00 Per L.S. \$ 48,800.00

Forty eight thousand eight hundred dollars and no cents
(Write LUMP SUM price for Item 2 in Words and Numbers)

ITEM 3 TREE REMOVAL, OVER 40" DIAMETER

1 UNIT @ \$ 3,000.00 Per UNIT \$ 3,000.00

Three thousand dollars and no cents
(Write UNIT price for Item 3 in Words and Numbers)

ITEM 4 I-9 SOIL AGGREGATE (IF & WHERE DIRECTED)

50 C.Y. @ \$ 10.00 Per C.Y. \$ 500.00

Ten dollars and no cents
(Write UNIT price for Item 4 in Words and Numbers)

ITEM 5 EXCAVATION, TEST PITS (IF & WHERE DIRECTED)

50 C.Y. @ \$ 10.00 Per C.Y. \$ 500.00

Ten dollars and no cents
(Write UNIT price for Item 5 in Words and Numbers)

ITEM 6 CONSTRUCTION SIGNS

250 S.F. @ \$ 1.00 Per S.F. \$ 250.00One dollar and no cents

(Write UNIT price for Item 6 in Words and Numbers)

ITEM 7 BREAKAWAY BARRICADES

10 UNITS @ \$ 10.00 Per UNIT \$ 100.00Ten dollars and no cents

(Write UNIT price for Item 7 in Words and Numbers)

ITEM 8 DRUMS

30 UNITS @ \$ 5.00 Per UNIT \$ 150.00Five dollars and no cents

(Write UNIT price for Item 8 in Words and Numbers)

ITEM 9 TRAFFIC DIRECTOR, FLAGGER

80 MH @ \$ 85.00 Per MH \$ 6800.00Eighty five dollars and no cents

(Write UNIT price for Item 9 in Words and Numbers)

ITEM 10 INLET TYPE 'B' (IF & WHERE DIRECTED)

1 UNIT @ \$ 6800.00 Per UNIT \$ 6800.00Six thousand eight hundred dollars and no cents

(Write UNIT price for Item 10 in Words and Numbers)

ITEM 11 RESET INLET TYPE 'B' WITH NEW FRAME, ECO CURB PIECE TYPE 'N' AND BICYCLE SAFE GRATE

7 UNITS @ \$ 1050.00 Per UNIT \$ 7350.00One thousand fifty dollars and no cents

(Write UNIT price for Item 11 in Words and Numbers)

ITEM 12 RESET INLET TYPE 'A' WITH NEW FRAME AND BICYCLE SAFE GRATE

2 UNITS @ \$ 900.00 Per UNIT \$ 1800.00Nine hundred dollars and no cents

(Write UNIT price for Item 12 in Words and Numbers)

| | | | | |
|---|---|--------------------|----------|----------------------|
| ITEM 13 | RESET EXISTING MANHOLE WITH NEW FRAME AND COVER | | | |
| | 14 UNITS | @ \$ <u>500.00</u> | Per UNIT | \$ <u>7,000.00</u> |
| <i>Five hundred dollars and no cents</i> | | | | |
| (Write UNIT price for Item 13 in Words and Numbers) | | | | |
| ITEM 14 | INLET PROTECTION | | | |
| | 9 UNITS | @ \$ <u>80.00</u> | Per UNIT | \$ <u>720.00</u> |
| <i>Eighty dollars and no cents</i> | | | | |
| (Write UNIT price for Item 14 in Words and Numbers) | | | | |
| ITEM 15 | 9" X 18" CONCRETE VERTICAL CURB | | | |
| | 3168 L.F. | @ \$ <u>29.00</u> | Per L.F. | \$ <u>91,872.00</u> |
| <i>Twenty nine dollars and no cents</i> | | | | |
| (Write UNIT price for Item 15 in Words and Numbers) | | | | |
| ITEM 16 | CONCRETE SIDEWALK, 5" THICK | | | |
| | 1720 S.Y. | @ \$ <u>81.00</u> | Per S.Y. | \$ <u>139,320.00</u> |
| <i>Eighty one dollars and no cents</i> | | | | |
| (Write UNIT price for Item 16 in Words and Numbers) | | | | |
| ITEM 17 | CONCRETE SIDEWALK, 7" THICK | | | |
| | 200 S.Y. | @ \$ <u>92.00</u> | Per S.Y. | \$ <u>18,400.00</u> |
| <i>Ninety two dollars and no cents</i> | | | | |
| (Write UNIT price for Item 17 in Words and Numbers) | | | | |
| ITEM 18 | DETECTABLE WARNING SURFACE | | | |
| | 17.1 S.Y. | @ \$ <u>250.00</u> | Per S.Y. | \$ <u>4275.00</u> |
| <i>Two hundred fifty dollars and no cents</i> | | | | |
| (Write UNIT price for Item 18 in Words and Numbers) | | | | |
| ITEM 19 | HOT MIX ASPHALT PAVEMENT REPAIR, 6" THICK | | | |
| | 1100 S.Y. | @ \$ <u>10.00</u> | Per S.Y. | \$ <u>11,000.00</u> |
| <i>Ten dollars and no cents</i> | | | | |
| (Write UNIT price for Item 19 in Words and Numbers) | | | | |

| | | | | |
|---------|---|------|--------|-----------------------|
| ITEM 20 | HOT MIX ASPHALT 9.5M64 SURFACE COURSE, 2" THICK | | | |
| | 1180 TONS | @ \$ | 95.80 | Per TON \$ 113,044.00 |
| | <i>Ninety five dollars and eighty cents</i> (Write UNIT price for Item 20 in Words and Numbers) | | | |
| ITEM 21 | MILLING OF HOT MIX ASPHALT, 3" OR LESS | | | |
| | 8340 S.Y. | @ \$ | 3.00 | Per S.Y. \$ 25,020.00 |
| | <i>Three dollars and no cents</i> (Write UNIT price for Item 21 in Words and Numbers) | | | |
| ITEM 22 | HOT MIX ASPHALT DRIVEWAY, 4" THICK | | | |
| | 9 S.Y. | @ \$ | 30.00 | Per S.Y. \$ 270.00 |
| | <i>Thirty dollars and no cents</i> (Write UNIT price for Item 22 in Words and Numbers) | | | |
| ITEM 23 | SMALL DECIDUOUS TREE, 3-3.5" CAL., B&B | | | |
| | 3 UNIT | @ \$ | 875.00 | Per UNIT \$ 2625.00 |
| | <i>Eight hundred seventy five dollars and no cents</i> (Write UNIT price for Item 23 in Words and Numbers) | | | |
| ITEM 24 | TRAFFIC STRIPES, LONG LIFE, EPOXY RESIN, 4" | | | |
| | 200 L.F. | @ \$ | 5.00 | Per L.F. \$ 1000.00 |
| | <i>Five dollars and no cents</i> (Write UNIT price for Item 24 in Words and Numbers) | | | |
| ITEM 25 | TRAFFIC MARKINGS, THERMOPLASTIC | | | |
| | 1800 S.F. | @ \$ | 2.40 | Per S.F. \$ 4320.00 |
| | <i>Two dollars and forty cents</i> (Write UNIT price for Item 25 in Words and Numbers) | | | |
| ITEM 26 | REGULATORY AND WARNING SIGNS | | | |
| | 41 S.F. | @ \$ | 38.00 | Per S.F. \$ 1558.00 |
| | <i>Thirty eight dollars and no cents</i> (Write UNIT price for Item 26 in Words and Numbers) | | | |

ITEM 27 FUEL PRICE ADJUSTMENT

1 L.S. @ \$ 3,000.00 Per L.S. \$ 3,000.00

THREE THOUSAND DOLLARS AND ZERO CENTS

(Write LUMP SUM price for Item 27 in Words and Numbers)

ITEM 28 ASPHALT PRICE ADJUSTMENT

1 L.S. @ \$ 4,000.00 Per L.S. \$ 4,000.00

FOUR THOUSAND DOLLARS AND ZERO CENTS

(Write LUMP SUM price for Item 28 in Words and Numbers)

TOTAL BID (Items 1 through 28)

\$ 509,974.00

Five hundred nine thousand nine hundred
(Write Total Bid)
seventy four dollars and no cents

PROVIDE A LIST SUB-CONTRACTORS
COPY OF LICENSES SUBMITTED WITH BID

NAME UNITED TERRAIN GROUP
ADDRESS 875 RIVER RD
CITY, STATE, ZIP PISCATAWAY N.J. 08854
TELEPHONE: 732-970-7980
FAX NO. 732-970-7981
TRADE CONCRETE - CURB - SIDEWALK
LICENSE NO.

NAME STRAIGHT EDGE STRIPPING
ADDRESS 223 EAST MAIN ST
CITY, STATE, ZIP BOUND BROOK N.J. 08805
TELEPHONE: 732-302-3001
FAX NO. 732-469-4812
TRADE STRIPPING
LICENSE NO.

NAME CORYELL TREE SERVICE
ADDRESS 24 LOCHATON C RD
CITY, STATE, ZIP WEST TRENTON, N.J. 08628
TELEPHONE: 609-306-6333
FAX NO.
TRADE TREE CUTTING
LICENSE NO.

NAME
ADDRESS
CITY, STATE, ZIP
TELEPHONE:
FAX NO.
TRADE
LICENSE NO.

NAME
ADDRESS
CITY, STATE, ZIP
TELEPHONE:
FAX NO.
TRADE
LICENSE NO.

Earle Isphart

②

CITY OF TRENTON
MERCER COUNTY, NEW JERSEY

RECONSTRUCTION OF FERRY STREET

SCHEDULE OF PRICES

ITEM 1 PERFORMANCE BOND & PAYMENT BOND

1 L.S. @ \$ 3,700.00 Per L.S. \$ 3,700.00

Three thousand seven hundred dollars and zero cents
(Write LUMP SUM price for Item 1 in Words and Numbers)

ITEM 2 CLEARING SITE

1 L.S. @ \$ 59,740.14 Per L.S. \$ 59,740.14

Fifty nine thousand seven hundred forty dollars and fourteen cents
(Write LUMP SUM price for Item 2 in Words and Numbers)

ITEM 3 TREE REMOVAL, OVER 40" DIAMETER

1 UNIT @ \$ 6,050.00 Per UNIT \$ 6,050.00

Six thousand fifty dollars and zero cents
(Write UNIT price for Item 3 in Words and Numbers)

ITEM 4 I-9 SOIL AGGREGATE (IF & WHERE DIRECTED)

50 C.Y. @ \$ 3.95 Per C.Y. \$ 197.50

Three dollars and ninety five cents
(Write UNIT price for Item 4 in Words and Numbers)

ITEM 5 EXCAVATION, TEST PITS (IF & WHERE DIRECTED)

50 C.Y. @ \$ 0.01 Per C.Y. \$ 0.50

Zero dollars and one cent
(Write UNIT price for Item 5 in Words and Numbers)

| | |
|---------|---|
| ITEM 6 | CONSTRUCTION SIGNS |
| | 250 S.F. @ \$ <u>0.01</u> Per S.F. \$ <u>2.50</u> |
| | <u>Zero dollars and one cent</u> (Write UNIT price for Item 6 in Words and Numbers) |
| ITEM 7 | BREAKAWAY BARRICADES |
| | 10 UNITS @ \$ <u>0.01</u> Per UNIT \$ <u>0.10</u> |
| | <u>Zero dollars and one cent</u> (Write UNIT price for Item 7 in Words and Numbers) |
| ITEM 8 | DRUMS |
| | 30 UNITS @ \$ <u>0.01</u> Per UNIT \$ <u>0.30</u> |
| | <u>Zero dollars and one cent</u> (Write UNIT price for Item 8 in Words and Numbers) |
| ITEM 9 | TRAFFIC DIRECTOR, FLAGGER |
| | 80 MH @ \$ <u>100.00</u> Per MH \$ <u>8,000.00</u> |
| | <u>One hundred dollars and zero cents</u> (Write UNIT price for Item 9 in Words and Numbers) |
| ITEM 10 | INLET TYPE 'B' (IF & WHERE DIRECTED) |
| | 1 UNIT @ \$ <u>4,900.00</u> Per UNIT \$ <u>4,900.00</u> |
| | <u>Four thousand nine hundred dollars and zero cents</u> (Write UNIT price for Item 10 in Words and Numbers) |
| ITEM 11 | RESET INLET TYPE 'B' WITH NEW FRAME, ECO CURB PIECE TYPE 'N' AND BICYCLE SAFE GRATE |
| | 7 UNITS @ \$ <u>1,650.00</u> Per UNIT \$ <u>11,550.00</u> |
| | <u>One thousand six hundred fifty dollars and zero cents</u> (Write UNIT price for Item 11 in Words and Numbers) |
| ITEM 12 | RESET INLET TYPE 'A' WITH NEW FRAME AND BICYCLE SAFE GRATE |
| | 2 UNITS @ \$ <u>1,000.00</u> Per UNIT \$ <u>2,000.00</u> |
| | <u>One thousand dollars and zero cents</u> (Write UNIT price for Item 12 in Words and Numbers) |

| | | | | | |
|---------|--|------|--------|----------|---------------|
| ITEM 13 | RESET EXISTING MANHOLE WITH NEW FRAME AND COVER | | | | |
| | 14 UNITS | @ \$ | 850.00 | Per UNIT | \$ 11,900.00 |
| | <u>Eight hundred fifty dollars and zero cents</u> | | | | |
| | (Write UNIT price for Item 13 in Words and Numbers) | | | | |
| ITEM 14 | INLET PROTECTION | | | | |
| | 9 UNITS | @ \$ | 0.01 | Per UNIT | \$ 0.09 |
| | <u>Zero dollars and one cent</u> | | | | |
| | (Write UNIT price for Item 14 in Words and Numbers) | | | | |
| ITEM 15 | 9" X 18" CONCRETE VERTICAL CURB | | | | |
| | 3168 L.F. | @ \$ | 52.50 | Per L.F. | \$ 166,320.00 |
| | <u>Fifty two dollars and fifty cents</u> | | | | |
| | (Write UNIT price for Item 15 in Words and Numbers) | | | | |
| ITEM 16 | CONCRETE SIDEWALK, 5" THICK | | | | |
| | 1720 S.Y. | @ \$ | 118.50 | Per S.Y. | \$ 203,820.00 |
| | <u>One hundred eighteen dollars and fifty cents</u> | | | | |
| | (Write UNIT price for Item 16 in Words and Numbers) | | | | |
| ITEM 17 | CONCRETE SIDEWALK, 7" THICK | | | | |
| | 200 S.Y. | @ \$ | 148.50 | Per S.Y. | \$ 29,700.00 |
| | <u>One hundred forty eight dollars and fifty cents</u> | | | | |
| | (Write UNIT price for Item 17 in Words and Numbers) | | | | |
| ITEM 18 | DETECTABLE WARNING SURFACE | | | | |
| | 17.1 S.Y. | @ \$ | 300.00 | Per S.Y. | \$ 5,130.00 |
| | <u>Three hundred dollars and zero cents</u> | | | | |
| | (Write UNIT price for Item 18 in Words and Numbers) | | | | |
| ITEM 19 | HOT MIX ASPHALT PAVEMENT REPAIR, 6" THICK | | | | |
| | 1100 S.Y. | @ \$ | 30.00 | Per S.Y. | \$ 33,000.00 |
| | <u>Thirty dollars and zero cents</u> | | | | |
| | (Write UNIT price for Item 19 in Words and Numbers) | | | | |

| | | | | | |
|--|---|------|--------|----------|---------------|
| ITEM 20 | HOT MIX ASPHALT 9.5M64 SURFACE COURSE, 2" THICK | | | | |
| | 1180 TONS | @ \$ | 92.00 | Per TON | \$ 108,560.00 |
| <u>Ninety two dollars and zero cents</u> | | | | | |
| (Write UNIT price for Item 20 in Words and Numbers) | | | | | |
| ITEM 21 | MILLING OF HOT MIX ASPHALT, 3" OR LESS | | | | |
| | 8340 S.Y. | @ \$ | 4.55 | Per S.Y. | \$ 37,947.00 |
| <u>Four dollars and fifty five cents</u> | | | | | |
| (Write UNIT price for Item 21 in Words and Numbers) | | | | | |
| ITEM 22 | HOT MIX ASPHALT DRIVEWAY, 4" THICK | | | | |
| | 9 S.Y. | @ \$ | 80.00 | Per S.Y. | \$ 720.00 |
| <u>Eighty dollars and zero cents</u> | | | | | |
| (Write UNIT price for Item 22 in Words and Numbers) | | | | | |
| ITEM 23 | SMALL DECIDUOUS TREE, 3-3.5" CAL., B&B | | | | |
| | 3 UNIT | @ \$ | 425.00 | Per UNIT | \$ 1,275.00 |
| <u>Four hundred twenty five dollars and zero cents</u> | | | | | |
| (Write UNIT price for Item 23 in Words and Numbers) | | | | | |
| ITEM 24 | TRAFFIC STRIPES, LONG LIFE, EPOXY RESIN, 4" | | | | |
| | 200 L.F. | @ \$ | 5.75 | Per L.F. | \$ 1,150.00 |
| <u>Five dollars and seventy five cents</u> | | | | | |
| (Write UNIT price for Item 24 in Words and Numbers) | | | | | |
| ITEM 25 | TRAFFIC MARKINGS, THERMOPLASTIC | | | | |
| | 1800 S.F. | @ \$ | 3.00 | Per S.F. | \$ 5,400.00 |
| <u>Three dollars and zero cents</u> | | | | | |
| (Write UNIT price for Item 25 in Words and Numbers) | | | | | |
| ITEM 26 | REGULATORY AND WARNING SIGNS | | | | |
| | 41 S.F. | @ \$ | 50.00 | Per S.F. | \$ 2,050.00 |
| <u>Fifty dollars and zero cents</u> | | | | | |
| (Write UNIT price for Item 26 in Words and Numbers) | | | | | |

ITEM 27 FUEL PRICE ADJUSTMENT

1 L.S. @ \$ 3,000.00 Per L.S. \$ 3,000.00

THREE THOUSAND DOLLARS AND ZERO CENTS

(Write LUMP SUM price for Item 27 in Words and Numbers)

ITEM 28 ASPHALT PRICE ADJUSTMENT

1 L.S. @ \$ 4,000.00 Per L.S. \$ 4,000.00

FOUR THOUSAND DOLLARS AND ZERO CENTS

(Write LUMP SUM price for Item 28 in Words and Numbers)

TOTAL BID (Items 1 through 28)

\$ 710,113.13

Seven hundred ten thousand one hundred thirteen dollars and thirteen cents

(Write Total Bid)

PROVIDE A LIST SUB-CONTRACTORS
COPY OF LICENSES SUBMITTED WITH BID

NAME Aspen Tree Expert Co, Inc.
ADDRESS 481 Wright Debow Road
CITY, STATE, ZIP Jackson, NJ 08527
TELEPHONE: (732) 928-5747
FAX NO. (732) 928-6608
TRADE Tree Removal
LICENSE NO. N/A

NAME Straight Edge Striping
ADDRESS 223 East Main Street
CITY, STATE, ZIP Bound Brook, NJ 08805
TELEPHONE: (732) 301-3001
FAX NO. (732) 469-4812
TRADE Striping
LICENSE NO. N/A

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

3
Bogt Rock

CITY OF TRENTON
MERCER COUNTY, NEW JERSEY

RECONSTRUCTION OF FERRY STREET

SCHEDULE OF PRICES

ITEM 1 PERFORMANCE BOND & PAYMENT BOND

1 L.S. @ \$ 3,000.00 Per L.S. \$ 3,000.00
Three thousand dollars Zero Cents

(Write LUMP SUM price for Item 1 in Words and Numbers)

ITEM 2 CLEARING SITE

1 L.S. @ \$ 193,454.00 Per L.S. \$ 193,454.00
One hundred ninety three thousand four hundred fifty four dollars
(Write LUMP SUM price for Item 2 in Words and Numbers)

(Write LUMP SUM price for Item 2 in Words and Numbers)

ITEM 3 TREE REMOVAL, OVER 40" DIAMETER

1 UNIT @ \$ 5,000.00 Per UNIT \$ 5,000.00
Five thousand dollars

(Write UNIT price for Item 3 in Words and Numbers)

ITEM 4 I-9 SOIL AGGREGATE (IF & WHERE DIRECTED)

50 C.Y. @ \$ 1.00 Per C.Y. \$ 50.00
One dollar

(Write UNIT price for Item 4 in Words and Numbers)

ITEM 5 EXCAVATION, TEST PITS (IF & WHERE DIRECTED)

50 C.Y. @ \$ 1.00 Per C.Y. \$ 50.00
One dollar

(Write UNIT price for Item 5 in Words and Numbers)

| | |
|---|---|
| ITEM 6 | CONSTRUCTION SIGNS |
| 250 S.F. | @ \$ <u>15.00</u> Per S.F. \$ <u>3,750.00</u> |
| <u>Fifteen dollars</u> | |
| | (Write UNIT price for Item 6 in Words and Numbers) |
| ITEM 7 | BREAKAWAY BARRICADES |
| 10 UNITS | @ \$ <u>1.00</u> Per UNIT \$ <u>10.00</u> |
| <u>One dollar</u> | |
| | (Write UNIT price for Item 7 in Words and Numbers) |
| ITEM 8 | DRUMS |
| 30 UNITS | @ \$ <u>1.00</u> Per UNIT \$ <u>30.00</u> |
| <u>One dollar</u> | |
| | (Write UNIT price for Item 8 in Words and Numbers) |
| ITEM 9 | TRAFFIC DIRECTOR, FLAGGER |
| 80 MH | @ \$ <u>100.00</u> Per MH \$ <u>8,000.00</u> |
| <u>One Hundred dollars</u> | |
| | (Write UNIT price for Item 9 in Words and Numbers) |
| ITEM 10 | INLET TYPE 'B' (IF & WHERE DIRECTED) |
| 1 UNIT | @ \$ <u>4,500.00</u> Per UNIT \$ <u>4,500.00</u> |
| <u>Four thousand Five Hundred dollars</u> | |
| | (Write UNIT price for Item 10 in Words and Numbers) |
| ITEM 11 | RESET INLET TYPE 'B' WITH NEW FRAME, ECO CURB PIECE TYPE 'N' AND BICYCLE SAFE GRATE |
| 7 UNITS | @ \$ <u>1,200.00</u> Per UNIT \$ <u>8,400.00</u> |
| <u>One thousand two hundred dollars</u> | |
| | (Write UNIT price for Item 11 in Words and Numbers) |
| ITEM 12 | RESET INLET TYPE 'A' WITH NEW FRAME AND BICYCLE SAFE GRATE |
| 2 UNITS | @ \$ <u>1,200.00</u> Per UNIT \$ <u>2,400.00</u> |
| <u>One thousand two hundred dollars</u> | |
| | (Write UNIT price for Item 12 in Words and Numbers) |

| | |
|---------|---|
| ITEM 13 | RESET EXISTING MANHOLE WITH NEW FRAME AND COVER |
| | 14 UNITS @ \$ <u>950.00</u> Per UNIT \$ <u>13,300.00</u> |
| | <u>Nine Hundred Fifty Dollars</u> |
| | (Write UNIT price for Item 13 in Words and Numbers) |
| ITEM 14 | INLET PROTECTION |
| | 9 UNITS @ \$ <u>150.00</u> Per UNIT \$ <u>1,350.00</u> |
| | <u>One Hundred Fifty dollars</u> |
| | (Write UNIT price for Item 14 in Words and Numbers) |
| ITEM 15 | 9" X 18" CONCRETE VERTICAL CURB |
| | 3168 L.F. @ \$ <u>32.00</u> Per L.F. \$ <u>101,376.00</u> |
| | <u>Thirty two dollars</u> |
| | (Write UNIT price for Item 15 in Words and Numbers) |
| ITEM 16 | CONCRETE SIDEWALK, 5" THICK |
| | 1720 S.Y. @ \$ <u>75.00</u> Per S.Y. \$ <u>129,000.00</u> |
| | <u>Seventy five dollars</u> |
| | (Write UNIT price for Item 16 in Words and Numbers) |
| ITEM 17 | CONCRETE SIDEWALK, 7" THICK |
| | 200 S.Y. @ \$ <u>90.00</u> Per S.Y. \$ <u>18,000.00</u> |
| | <u>Ninety dollars</u> |
| | (Write UNIT price for Item 17 in Words and Numbers) |
| ITEM 18 | DETECTABLE WARNING SURFACE |
| | 17.1 S.Y. @ \$ <u>350.00</u> Per S.Y. \$ <u>5985.00</u> |
| | <u>Three Hundred Fifty dollars</u> |
| | (Write UNIT price for Item 18 in Words and Numbers) |
| ITEM 19 | HOT MIX ASPHALT PAVEMENT REPAIR, 6" THICK |
| | 1100 S.Y. @ \$ <u>50.00</u> Per S.Y. \$ <u>55,000.00</u> |
| | <u>Fifty dollars</u> |
| | (Write UNIT price for Item 19 in Words and Numbers) |

| | | | | | |
|---|---|--------|----------|----|------------|
| ITEM 20 | HOT MIX ASPHALT 9.5M64 SURFACE COURSE, 2" THICK | | | | |
| 1180 TONS | @ \$ | 92.00 | Per TON | \$ | 108,560.00 |
| <u>Ninety two dollars</u> | | | | | |
| (Write UNIT price for Item 20 in Words and Numbers) | | | | | |
| ITEM 21 | MILLING OF HOT MIX ASPHALT, 3" OR LESS | | | | |
| 8340 S.Y. | @ \$ | 4.25 | Per S.Y. | \$ | 35,445.00 |
| <u>Four dollars twenty Five Cents</u> | | | | | |
| (Write UNIT price for Item 21 in Words and Numbers) | | | | | |
| ITEM 22 | HOT MIX ASPHALT DRIVEWAY, 4" THICK | | | | |
| 9 S.Y. | @ \$ | 100.00 | Per S.Y. | \$ | 900.00 |
| <u>One Hundred dollars</u> | | | | | |
| (Write UNIT price for Item 22 in Words and Numbers) | | | | | |
| ITEM 23 | SMALL DECIDUOUS TREE, 3-3.5" CAL., B&B | | | | |
| 3 UNIT | @ \$ | 800.00 | Per UNIT | \$ | 2,400.00 |
| <u>Eight hundred dollars</u> | | | | | |
| (Write UNIT price for Item 23 in Words and Numbers) | | | | | |
| ITEM 24 | TRAFFIC STRIPES, LONG LIFE, EPOXY RESIN, 4" | | | | |
| 200 L.F. | @ \$ | 5.00 | Per L.F. | \$ | 1,000.00 |
| <u>Five dollars</u> | | | | | |
| (Write UNIT price for Item 24 in Words and Numbers) | | | | | |
| ITEM 25 | TRAFFIC MARKINGS, THERMOPLASTIC | | | | |
| 1800 S.F. | @ \$ | 3.00 | Per S.F. | \$ | 5,400.00 |
| <u>Three dollars</u> | | | | | |
| (Write UNIT price for Item 25 in Words and Numbers) | | | | | |
| ITEM 26 | REGULATORY AND WARNING SIGNS | | | | |
| 41 S.F. | @ \$ | 40.00 | Per S.F. | \$ | 1,640.00 |
| <u>Forty dollars</u> | | | | | |
| (Write UNIT price for Item 26 in Words and Numbers) | | | | | |

ITEM 27 FUEL PRICE ADJUSTMENT

1 L.S. @ \$ 3,000.00 Per L.S. \$ 3,000.00

THREE THOUSAND DOLLARS AND ZERO CENTS

(Write LUMP SUM price for Item 27 in Words and Numbers)

ITEM 28 ASPHALT PRICE ADJUSTMENT

1 L.S. @ \$ 4,000.00 Per L.S. \$ 4,000.00

FOUR THOUSAND DOLLARS AND ZERO CENTS

(Write LUMP SUM price for Item 28 in Words and Numbers)

TOTAL BID (Items 1 through 28)

② Seventy hundred fifteen
(Write Total Bid)

② \$ 715,000.00 ②
Seven hundred fifteen thousand dollars and
zero cents

② P

**BID2019-25 RECONSTRUCTION OF FERRY STREET NJDOT TRUST FUND FOR THE CITY OF TRENTON, DEPARTMENT OF PUBLIC WORKS, DIVISION OF
TRAFFIC AND TRANSPORTATION BID OPENING 5/2/19 AT 11:00AM**

ADMIN